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carried out (2016)

• For the weight:

• 𝟎. 𝟔𝟗𝟐 × 𝜺 𝑫𝑷𝑺 + 𝟎. 𝟑𝟎𝟖 × 𝜺(𝑺𝑷𝑺)

• 𝜺 𝑫𝑷𝑺 = 𝜺𝜼 𝑫𝑷𝑺 × 𝜺𝒑𝑻 𝑫𝑷𝑺 …

• All MC samples and Data sample are corrected by this weight



Weighted fit

• Redone the acceptance and efficiency calculation and a weighted fit was 

carried out (2016)

𝑵 𝑷𝑷 = 𝟕𝟕𝟒𝟎 ± 𝟏𝟎𝟎

𝑳𝟐𝟎𝟏𝟔 = 𝟑𝟔. 𝟑𝒇𝒃−𝟏

𝝈 =
𝟕𝟕𝟒𝟎

𝟑𝟔. 𝟑 × 𝟓. 𝟗𝟔%𝟐
𝒇𝒃

= (𝟔𝟎. 𝟎 ± 𝟎. 𝟖)𝒑𝒃



Binned fit
• The template fit to determine the SPS/DPS fraction was carried out

• The fitting quality was not 

that satisfying

• DPS fraction acquired: 

• 𝑴(𝑱/𝝍𝑱/𝝍): 𝟎. 𝟔𝟐𝟓 ±

𝟎. 𝟎𝟎𝟔

• 𝚫(𝒚 𝑱/𝝍𝟏 , 𝒚 𝑱/𝝍𝟐 ): 

𝟎. 𝟎𝟓𝟗𝟒 ± 𝟎. 𝟎𝟎𝟕



Binned fit
• A 2D template fit to was tried

• DPS fraction acquired:

• 𝟎. 𝟕𝟐𝟕 ± 𝟎. 𝟎𝟎𝟔

• Fitting in single bin is 

unsteady

• Propose to fix more 

parameters in binned fit 

(e.g: 𝑱/𝝍 mass peak)



Back Up



SPS

DPS

Total

10K

5K

15K

0.5

0.4

5K

2K

7K

0.2

0.4

1K

800

1800

(0.5*2+0.4)/3 (0.2*2+0.4)/3

1800675014464

1800

(0.5*0.2*2+0.4*0.4)/3

15000
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